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(i) TETIF-UT AT G T & - & m T |

(i) 9T F QN ST & o g & |

(iii) TR VT G @ Y TH @ FHE OE AT ET FATE

(iv) 1 597 & @t 9Tl @ 3¢ v & @ W fakar |
General Instructions :

(i)  This question paper contains three parts A, B and C.

(i)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.
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W -
PART - A
(TR WIS, AT BHl 79T HHAl & 0 i)

(Accounting for Not-For-Profit Organisations, Partnership Firms and Companies)

67/1/1

U HEAHRT G TR ST MER W 941d 51+ arel f&id f9exor &1 319 Sargu |

Name the financial statement prepared by a Not-For-Profit Organisation on accrual
basis.

UF UERE 5 A T g & uiieatie & favg ¥ ardE 9eer! sfufae & eyl @6
IoeiE Hifaw |

State the provisions of Indian Partnership Act regarding the payment of remuneration
to a partner for the services rendered.

STTHTTT TEVT THict THE Ueh WIEIS AN o 5 3T 1 IRl &Il & 2
For which share of Goodwill a partner is entitled at the time of his retirement ?

U FH & TS & 621 & Sasll &l Ioei@ iy |

State any two occasions on which a firm can be reconstituted.

A IR § 9 R RO & WG F HiS UH o9 Fard |

Give any one advantage for the redemption of debentures by purchase in the open
market ?

frefafaa goar | 31-3-2011 &t TEC §C 99 % 60 9% § WG A H, AT G TE H
3ifeRa A & fIT, TOTT T |

g 2010-2011 o W ==1 - 7 3,40,000
31-3-2011 =t 31T F=T T 47,000
31-3-2011 &I 310w e g=1 T 35,000
1-4-2010 =t 315 °=T T 28,000
1-4-2010 St #fog W == T 25,000

From the following information, calculate the amount of income from subscriptions
to be shown in the Income and Expenditure Account for the year ended 31-3-2011 :

Subscriptions received during the year 2010-2011 ¥ 3,40,000
Subscriptions outstanding as on 31-3-2011 T 47,000
Subscriptions received in advance as on 31-3-2011 T 35,000
Subscriptions outstanding as on 1-4-2010 3 28,000
Subscriptions received in advance as on 1-4-2010 3 25,000
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7. 5 fa. 3 e for @ % 10,00,000 & wa =0 564 T |37 AR % 10% T e
! Ueh Uk o g AT AT | 99 AW 6 T 10 WS % quan v, M 10% Fag
X frifie fear war o, & grr e | 3

o7 o1, =t Qe | sTawas s safedr St |

Jain Ltd. purchased Building for ¥ 10,00,000 from Gupta Ltd. 10% of the payable
amount was paid by a cheque drawn in favour of Gupta Ltd. The balance was paid by
issue of Equity Shares of ¥ 10 each at a discount of 10%.

Pass necessary Journal Entries in the books of Jain Ltd.

8.  ArgYr weH it A T 100 Ul F 7500, 12% Forast, 52 € 35 ucdeh & Wifgaw W i
HT o, % e sraeT amufEa e | qut i & Oam STae 9T 97 | 3

Fa 10,000 19T % 1T 2mEET 9T g¢ | 2500 ForaE & ferw smas i E e ar
qT 3{TaS YT AT BT S ML | VY MEEHI Bl RO H SAESA w4 |

IR AGAT o [T ARET e o, 61 qeedept o T niatedr Hie |
Narain Laxmi Ltd. invited applications for issuing 7500, 12% Debentures of ¥ 100
each at a premium of ¥ 35 per Debenture. The full amount was payable on application.

Applications were received for 10,000 Debentures. Applications for 2500 Debentures
were rejected and the application money was refunded. Debentures were allotted to
the remaining applicants.

Pass necessary Journal Entries for the above transactions in the books of Narain
Laxmi Ltd.

9. 3THOT T SIS UFH BH § WERK 4 51 5 ; 3 & U | o Sed | 1.4.2010 i FTH
Tt G T weeT ot - 375 T 60,000 THT TS T 80,000 | 3RMH IS WX 12% Wi &y
T | ST 3 9T e W 15% Ui a4 i g 9§ =1 o B v fRar 131432011 @
T §¢ a4 % forw Sula it gurEeE ¥ O B P o T 12,600 91 | 99 & @RE
FEUT T TR T 2,000 AT IS & T 4,000 & | 37607 TUT ST 1 oAT4 814 f1aiwi @re
AR AT T ST OIS B W G | B A w1l g B e A ot it v =5
Bl 4

Arun and Arora were partners in a firm sharing profits in the ratio of 5 : 3. Their
fixed capitals on 1-4-2010 were : Arun X 60,000 and Arora T 80,000. They agreed to
allow interest on capital @ 12% p.a. and to charge on drawings @ 15% p.a. The
profit of the firm for the year ended 31-3-2011 before all above adjustments were
¥ 12,600. The drawings made by Arun were ¥ 2,000 and by Arora ¥ 4,000 during the
year. Prepare Profit and Loss Appropriation Account of Arun and Arora. Show your
calculations clearly. The interest on capital will be allowed even if the firm incurs
loss.
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10.

11.

12.

67/1/1

aﬁqﬁnwwa@m%wmmm 14 : 5 : 6% u | fauioe = € |
sﬂnwmm%ﬁmmmw 5 S5 o T H I & | A B i

aﬁw%za&%mﬂ:ww%w?ﬁmﬁmﬁ@ﬁ?ﬁqm%mm
W et & | ee dF a6l % o %A T 50,000, 55,000 79T T 60,000 € | HHH €9
F 39 BHT 1 YHF 1 T 30,000 INGE ¥ | FH H RIS A &G BT T @ @
T 75,000 3AfeHd & | O & ATHY WS FL o & 95 B B TIT 99 B @™ T 1,00,000 € |
YT TS S e T W S [ ° T % gaEisE aur and faawr # savas
U wfaftedt st |

Arjun, Bhim and Nakul are partners sharing profits & losses in the ratio of 14 : 5: 6
respectively. Bhim retires and surrenders his 5/25" share in favour of Arjun. The
goodwill of the firm is valued at 2 years purchase of super profits based on average
profits of last 3 years. The profits for the last 3 years are ¥ 50,000, ¥ 55,000 &
¥ 60,000 respectively. The normal profits for the similar firm are ¥ 30,000. Goodwill
already appears in the books of the firm at ¥ 75,000. The profit for the first year after
Bhim’s retirement was ¥ 1,00,000. Give the necessary Journal Entries to adjust
Goodwill and distribute profits showing your workings.

wifert fed. 3 3793 T 100 UEF F 750, 12% RO 3 wred 1 Aol ferar | e 3500
FOTET 1 FF T 94 W T B X W G IR § Ha | 99 0O & v o 5 9
ferar T | AT S 0T O WA FIY H S AT TR H QA & AT g3 ¢ |

IR TARAl & (1T FHHT S [EIshl | ATavgs Ja-mmn ufafedl i |

Shakti Ltd decided to redeem its 750, 12% Debentures of ¥ 100 each. The company
purchased 500 Debentures at ¥ 94 per Debenture from the open market. The
remaining debentures were redeemed out of profits. The company had already made
a provision for Debenture Redemption Reserve in its books.

Pass necessary Journal Entries in the books of the company for the above
transactions.

Frfefan aeat & fow eei= fa. =i qeasl 7 snervgs TemmEr vfanedr S
(i) T 75 WHF & 750, 12% ROTGE H YA T 1oomé?mmmﬁﬁtrﬁaﬁﬁaﬂ$
o T | WA ST BT 10% F A G ol e e |

(i) T 1,000 ¥AF F 550, 12% ROGAT B A2 T 100 THF & 13% HOGE § ufafad
e | 78 019l 1 10% % ey 92 fiie fesar mar |

Pass necessary Journal Entries for the following transactions in the books of
Sudarshan Ltd.

(i) Redeemed 750, 12% Debentures of T 75 each by converting into Equity Shares
of ¥ 100 each. The Equity Shares were issued at a discount of 10%.

(i) Converted 550, 12% Debentures of ¥ 1,000 each into New 13% Debentures of
¥ 100 each. The New Debentures were issued at a premium of 10%.
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13, oHt @ YW WERR & a9 3 1 % U B oy died & | 31-3-2011 & I fefa

67/1/1

faaeor T v o -
31-3-2011 6T THT 99T YT %1 Feaf faamor
et T waferat o
z 3

et ofy e wa 70,000
ELll 1,20,000 NI 60,000
i 80.000| 2,00,000 | 7&K 80,000
AR . 70,000 | 5% 60,000
2,70,000 2,70,000

1-4-2011 = ST 1 GG &1 77, q°T Gl U SASET 1 ERor e ge
(i) ¥ 50,000 % ATER A g TU7 a7 i 39 Z9 & qO7 FUeR &g o foran |
(i) 99 TSR S I Ths fhar T |

(iii) TRIRY Y 30% % Hoderd U a1 74T |

(iv) ISR A T 500 F AT W TGS F E |

(v) agert=g¥1,7009 |

T % U & T Sravaes Jsnen wianedr sy |

Verma and Sharma were partners sharing profits in the ratio of 3 : 1. On 31-3-2011
their Balance Sheet was as follows :

Balance Sheet of Verma and Sharma as on 31-3-2011

Liabilities Amount Assets Amount

3 3
Capitals : Land and Building 70,000
Verma 1,20,000 Machinery 60,000
Sharma 80,0001 2,00,000 | Debtors 80,000
Creditors 70,000 | Bank 60,000
2,70,000 2,70,000

The firm was dissolved on 1-4-2011 and the Assets and Liabilities were settled as
follows :

(i) Creditors of ¥ 50,000 took over Land and Building in full settlement of their
claim.

(i1) Remaining Creditors were paid in cash.

(i) Machinery was sold at a depreciation of 30%.

(iv) Debtors were collected at a cost of ¥ 500.

(v) Expenses of realization were T 1,700.

Pass necessary Journal Entries for dissolution of the firm.
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14.

31-3-2011 %1 GUIE §C g4 & foIQ i faoeit oora’ & Frefomaa ot & Jrae @’ |
‘A A1 G @EAT TR HIT

31-3-2011 %t HHTE g a9 & faw oit= et o 1 wiftd g Jrar @

|Jm ST
Y 1 | T 13,200 | a9 (11 WM 2,200
qTa™)
I=7 25,500 | feman 800
AT I 2,000
TH (Wad & few T 1,000 3,000 | festent 3,500
wftmfera)
16T &1 fohran 2,500 | 2,600
faw = fosrg (T 3,500 | frdi cem RyEt 800
e T 4,000) —_— 16,660
9% T STHT 9 13,000
(31-1-2011)
39 A A T 16,800
49,700 49,700

From the following ‘Receipt and Payments Account’ of ‘Green Delhi Club’ for the
year ended 31-3-2011, prepare ‘Income and Expenditure Account’.

Receipts and Payments Account of ‘Green Delhi Club’ for the year ended 31-3-2011.

67/1/1

Dr. Cr.
Receipts Am;unt Payments Am;unt
To Balance b/d 13,200 | By Salary (paid for 11 2,200
months)
To Subscriptions 25,500 | By Rent 800
To Entrance Fee 2,000
To Donations (includes 3,000 | By Electricity 3,500
¥ 1,000 for Buildings)
To Hall Rent 2,500 | By Taxes 2,600
To Sale of Investments 3,500 | By Printing and 800
(Book value Stationery
< 4,000) By Books 10,000 |-
By 9% Fixed Deposits | 13,000
(on 31-1-2011)
By Balance c¢/d 16,800
49,700 49,700




15. @ @ T WEER 4 T4 3 : 2 % S0 H @ sed 9 1 31-3-2011 1 3 fegfa faeror
1 ye ot 8

31 | 2011 Tt @ q4T 7 w7 Fefer faEwr

- wifyr I Ty
4 4

ot - sifiy T e 80,000
‘@ 60,000 T 20,000
“ar _40.000 1,00,000 | ET 10,000
g&a Fo1 & feg wrae 1,000 | 3_R 25,000
TTRR 60,000 | TFT 16,000
A-EIH =i 10,000
1,61,000 1,61,000

‘H‘ﬁﬁﬂ%ﬁ@ﬁmﬁ%wwm%%ﬂm%mwwmmw:

(i) o oy ot =7 oraTa 2 : 2 ¢ 1 A forar
(i) = T 30,000 370 Goit % ferw wram For T 15,000 =0 % 30 9w % foAw e |

(iii) 399 | w@fa 1 2w 9 39 9EER A e o e e T % 9 @ @t
‘0 o g o T ar |

(iv) FTTRRI W gEa o1 |iery ForeEt & 60 5% S aeEE S o9 |
(v) wRRI A gfmferd 7 500 @ U 05 1 ST T8l A o |
(vi) & % fawg T 800 F ww &ifq & 3 & fow waem s ar |

ST FHREISH % TG @ T T F S @ w1 99EeE 9 # OGS % YR 9T
AT A1, T (70 TRINT SR AHE @18 AR ST9al IHH I fowar s |

AT T, AR % Yol @ o T8 G S fefa fEeir qan i |

‘ FYar
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S, P T TE TS FH W GIERR 9 S A 6 7:2:1 % S | faite it 41 31
T, 2011 F wH 1 Feafer foremor P an

31 \ret 2011 S, P e ‘uw? o Reta-faerr

et o wefaat i
z ?

Tt w1t ' 40,000

i 70,000 i e 9e= 60,000

s 20,000 TR 40,000

T 10,000 | 1,00,000 | wi® 7,000

[ O 20,000 | TT_R 12,000

“$* T T 30,000 | ¥ 5,000
HR_R 14,000

1,64,000 1,64,000

24 TR 2011 F ¥ H GG B T | Fopet off TRER gy 9 SHSH G afed = wf
TrEl & fer % fau Rk dog d Frefafad meue 53 e €

(i) Wwaﬁaﬂ%ﬁqwmm%m%m forset i =t & 2itEa @y
% MY 9T S AT A T 80,000 AT |

(i) Gefal & Qe o SEEl % O R § gaw 9Eer & oy w1 w5 e,
Trﬁﬁ'ﬂ'lﬂﬂﬂ%

o @ waq 1 FEHeiEA T 94,000, TN @ T 38,000 @l Wi &
% 5,000 foam mar |ﬁ%ﬂ$ﬂﬁ$%ﬁéﬁmﬁwzl%$ram‘mm:ma

(iii) oot wafer it ¥ & Fromes =t <7 o, —H%W@ﬁﬁwﬁmﬁﬁaﬂﬁﬂé foraepr
A 1% ¥ far s |

QAR G, GRIRRI & Qe @, ‘3 & SRl & @il o1 ‘Si 0@ ‘T%° & feid

feraror dar FifA fE 31aa it @l @t AT e S | | g0 SAGEd Hi 9] WA

=1 Preeg fopar & | Forelt oft anfier o ot &0t TEieml & = @l | wARRT w5

S |
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‘B’ and ‘C’ were partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as
on 31-3-2011 was as follows :

Balance Sheet of B and C as on 31-3-2011

Amount Amount
Liabilities Assets

4 L4
Capitals : Land and Building 80,000
‘B’ 60,000 Machinery 20,000
He? _ 40,000 1,00,000 | Furniture 10,000
Provision for bad debts 1,000 | Debtors 25,000
Creditors 60,000 | Cash 16,000
Profit and Loss Account 10,000
1,61,000 1,61,000

‘D’ was admitted to the partnership for 1/5" share in the profits on the following
terms :

(1) © The new profit sharing ratio was decided as 2 : 2 : 1.
(i) D will bring ¥ 30,000 as his capital and ¥ 15,000 for his share of goodwill.

(1) Half of goodwill amount was withdrawn by the partner who sacrificed his
share of profit in favour of ‘D’.

(iv) A provision of 5% for bad and doubtful debts was to be maintained.
(v) Anitem of ¥ 500 included in Sundry Creditors was not likely to be paid.
(vi) A provision of T 800 was to be made for claims for damages against the firm.

After making the above adjustments the Capital Accounts of ‘B’ and ‘C” were to be
adjusted on the basis of D’s Capital. Actual cash was to be brought in or to be palcl
off as the case may be.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm.

OR

67/11 9 [P.T.O.



‘G’, ‘E’ and ‘F’ were partners in a firm sharing profits in the ratio of 7 : 2 : 1. The
Balance Sheet of the firm as on 31* March, 2011 was as follows :

Balance Sheet of ‘G’, ‘E’ and ‘F’ as on 31* March, 2011

Amount Amount
Liabilities Assets
(4 4

Capitals : Goodwill 40,000
‘G’ 70,000 Land & Buildings 60,000
‘E’ 20,000 Machinery 40,000
F _10.000 1,00,000 | Stock 7,000
General Reserve 20,000 | Debtors 12,000
Loan from ‘E’ 30,000 | Cash 5,000

Creditors 14,000
1,64,000 1,64,000

‘E’ died on 24™ August 2011. Partnership deed provides for the settlement of claims
on the death of a partner in addition to his capital as under :

(1)  The share of profit of deceased partner to be computed upto the date of death
on the basis of average profits of the past three years which was T 80,000.

(1) His share in profit/loss on revaluation of assets and re-assessment of liabilities
which were as follows :

Land and Buildings were revalued at ¥ 94,000, Machinery at ¥ 38,000 and
1

Stock at ¥ 5,000. A provision of 2‘5% was to be created on debtors for bad and

doubtful debts.

(iii) The net amount payable to ‘E’s executors was transferred to his Loan Account,
to be paid later on. ‘

Prepare Revaluation Account, Partner’s Capital Accounts, E’s Executor A/c. and
Balance Sheet of ‘G’ and ‘F’ who decided to continue the business keeping their
capital balances in their new profit sharing ratio. Any surplus or deficit to be
transferred to current accounts of the partners.

67/1/1 10



16. va T 3 T 10 o5 F 80,000 FaT 390 & i % fow smasA smwt= 6 | 3 3w
%1 T 40 Wl 3w & sy w Fifae e ar 1 wfer =1 g e TR § S 8

amEET 1T ¥ 35 i #iw (T 30 sifaaw |tmta)

e W T 8 Wi 391 (% 4 Wifgay wiEiem)

WY Ud 3= A W — 9
77,000 3 % AT SMEA W §C | Wt HAESH Bl S B A I T | GE=,
1@ 7,000 39T 1 e fovar AT O, A A AT S IEE & A | eEed &
T 39 3 H Tl F o TG | AATvE T U SAf<m g 5ol 7E | 6o,
fSrass W 500 3w A, 3wy vF AfTH AT 1 P T A | 59 S R A A=

¢ forar | S T v sivi # | 1,000 3w 1 50 Ui w I I UEW I,
fote ¢ fean | Foifier Fordt T ot o W % Wt S e o |

v . &1 Tehl § SIS SRl & [0 SHTevas AsHTHe Hiaredt Sy |
Fgar

I T, A T 10 v % 35,000 THAT T B 10% F 7 W FHitHG B H U @
= feew | T st o Fe v | e o

g W ¥ 5 ufa aiw

FHeed W X 3 i 3w

WO T 3T greEr °) — 9
50,000 3791 % foTg 1aRA WIS W | 8,000 ¥ % fIw el # W ¢ faar mar aur
FATH I AT TR 97 HC I TS | WY AT D S B A SR SR T
femam TTaT YT 3 SAEEH ¥ SAEE W S SAfia Ui w1 FEEeE SEed W ag A A
wR fomr mar | Sl 3 600 w F forw amaee fwar ar | SE SEe ik U v ud
i~ qreen TR T TAE A€ fRar | 9, S 400 29T T YR 91, 3 vy ug iy

T T 0 ST @l foRar | Siie w TEE % S i s w7 foran lmﬁ?&nﬁ
e A | 800 37t i T 15 wfey 3fer qui wew (. Frithe = famn mar |

7= Frifie et ma ot § W o Wit e Wil 9 | STiE deeAl & A o
fo1. #t et § STavas TS Hfafedr Sy |
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Shyam Ltd invited applications for issuing 80,000 Equity Shares of ¥ 10 each at a
premium of ¥ 40 per share. The amount was payable as follows :

On Application T 35 per share (including ¥ 30 Premium)
On Allotment ¥ 8 per share (including ¥ 4 Premium)
On First and Final Call — Balance

Applications for 77,000 shares were received. Shares were allotted to all the
applicants. Sundram to whom 7,000 shares were allotted failed to pay the allotment
money. His shares were forfeited immediately after allotment. Afterwards the first
and final call was made. Satyam the holder of 500 shares failed to pay the first and
final call. His shares were also forfeited. Out of the forfeited shares 1,000 shares
were re-issued at ¥ 50 per share fully paid up. The re-issued shares included all the
shares of Satyam.

Pass necessary Journal Entries for the above transactions in the books of Shyam Ltd.
OR

Jain Ltd. invited applications for issuing 35,000 Equity Shares of ¥ 10 each at a
discount of 10%. The amount was payable as follows :

On Application T 5 per share.
On Allotment ¥ 3 per share
On First and Final Call — Balance

Applications for 50,000 shares were received. Applications for 8,000 shares were
rejected and the application money of these applicants was refunded. Shares were
allotted on pro-rata basis to the remaining applicants and the excess money received
with applications from these applicants was adjusted towards sums due on allotment.
Jeevan who had applied for 600 shares failed to pay allotment and first and final call
money. Naveen the holder of 400 shares failed to pay first and final call money.
Shares of Jeevan and Naveen were forfeited. Of the forfeited 800 shares were
re-issued at ¥ 15 per share fully paid up. The re-issued shares included all the shares
of Naveen.

Pass necessary Journal Entries for the above transactions in the books of Jain Ltd.

HT -9
PART - B

(fereitar Tzt = farweraon)

(Financial Statements Analysis)

T & foru foirg faawon & favauu & e =1 I ST |

State the significance of Analysis of Financial Statements to the ‘Lenders’.
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18. ‘s WAt faawor s=M %1 32va FaEy | . 1

State the purpose of preparing a ‘Cash Flow Statement’.

19. ‘T fovs T g/ W % sfamew & o e T & s A faeRun a9
T ferd e st ety et s 2 1

While preparing Cash Flow Statement what type of activity is, ‘Payment of Cash to

acquire Debentures by an Investment company” ?

20, 3tuy, fef. 1 9] 3 3.5 ¢ 1 99T el oUW 2 ¢ 1 ¥ | 9K W% R Wit
AT ATe] WA qEn T gt B =R T 1,50,000 F @t | weihdl aur =]
Tt i AT HifT | 3

O.M. Ltd. has a Current Ratio of 3.5 : 1 and Quick Ratio of 2 : 1. If the excess of
Current Assets over Quick Assets as represented by Stock is T 1,50,000, calculate
Current Assets and Current Liabilities.

21. Trefefea gen @ freafefan & @ e 2t smumt i o Sif . 4
(F) O ST
(@) e IS Siad ST T
@ ey wrEm

AT WA S G T 50,000 ; WARE €T T 5,000 ; AM-EN @M N T L F
A % &1 T 15,000 ; 9% TR T 20,000 ; TG T 15,000 ; 9 T 9T T 65,000
TE= T 15,000 ; 33K T 14,500 791 Tbe T 5,500 ; 3900 & FriAT O &521 T 5,000 |

31-3-2011 I FHIG §C a9 & forg fassa T 1,50,000 &1, T 7T 50% |

From the following information, calculate any two of the following ratios :
(a) Debt-Equity Ratio

(b) Working Capital Turnover Ratio and

(¢) Return on Investment

Information : Equity Share Capital ¥ 50,000, General Reserve ¥ 5,000; Profit and
Loss Account after tax and interest ¥ 15,000; 9% Debentures ¥ 20,000; Creditors
T 15,000; Land and Building ¥ 65,000; Equipments ¥ 15,000; Debtors ¥ 14,500 and
Cash T 5,500. Discount on issue of shares T 5,000.

Sales for the year ended 31-3-2011 was ¥ 1,50,000. Tax rate 50%.

67/1/1 13 [P.T.O.



22,

31-3-2011 = TS T, 1 3917 faawor i v or

e
faawor
T
Tasrg 2,00,000
AT G 15,000
P AT 2,15,000
9 T HIe S AT 1,10,000
T =4g 5,000
T =T 1,15,000
Y 40,000

31-3-2011 1 U &€ 99 o feTw Tt T, o1 W= S 1 377 fqawet daw i |
Following is the Income Statement of Raj Ltd. for the year ended 31-3-2011 :

Particulars Auiouue
4

Income :

Sales 2,00,000

Other Incomes 15,000

Total Income 2,15,000
Expenses :

Cost of goods sold 1,10,000

Operating expenses 5,000 .

Total Expenses 1,15,000

Tax 40,000

Prepare a common size Income Statement of Raj Ltd. for the year ended 31-3-2011.

67/1/1 14



23. 31-3-2010 71 31-3-2011 T Wi for. % Fretferfiaa ey feramont & Wb wae fomor daw
Eﬁ‘ﬁrm’:
; 31-3-20101 31-3-2011 31-3-2010| 31-3-2011
Fgant weafat
[ 4 4 4 4
Joe 97 gl 1,00,000| 1,50,000 | T 12,500 11,250
qeT 1,50,000 1,50,000
BT ST 25,000 50,000 | - 18,750
TRR 50,000 63,750
EEakny| 50,000 25,000 | =& 2,500 3,750
RIS ST 20,000 15,000 | T 5,000 21,250
T g 10,000 17,500
[GEEALS 15,000 11,250
2,20,000| 2,68,750 2,20,000| 2,68,750
wiferfea gu
qd § T 50,000 JF Hed & AT H faspd T 2,000 H FH W A may wen wem w
% 4,000 T HoF BT &1 74T |
From the following Balance Sheets of Sonam Ltd as on 31-3-2010 and 31-3-2011
prepare a Cash Flow Statement :
31-3-2010| 31-3-2011 31-3-2010 31-3-2011
Liabilities Assets
L4 4 4 T
Equity Share Patents 12,500 11,250
Capital 1,00,000| 1,50,000|Building 1,50,000| 1,50,000
Profit & Loss Investments - 18,750
Account 25,000 50,000 | Debtors 50,000 63,750
Bank Loan 50,000 25,000 | Stock 2,500 3,750
Proposed Dividend 20,000 15,000 (Cash 5,000 21,250
Provision for tax 10,000 17,500
Creditors 15,000 11,250
2,20,000| 2,68,750 2,20,000| 2,68,750

Additional Information :

During the year a Building having book value T 50,000 was sold at a loss of ¥ 2,000
and depreciation charged on Building was T 4,000,

67/1/1

15

[P.T.O.




YR - 77
PART -C
(Computerised Accounting)

(erfvfas waiE)

17. ST &1 Yoo add S 8 Ferd H € 2 1

How does the usage of computers help the business ?

18. Tt @ =1 swmdfed i | vuH 3% & F11 SAAE § 2 1
What is meant by the first digit in the ‘code’ allotted to an ‘Account’ ?

19. # 3% (7)) g T E? 1
What is #Null Error ?
20. fyerfer SEisT Giveaat & ol o S&ui =1 9y | 3

Explain any three features of Computerized Accounting Software.

21. SIS U UH F1 € 7 $9% A T i AR | 4
What is DBMS ? Explain its three advantages.

22. WIEHIETE UOH | SHHEiiREl F 2 w1 W AT oA & foie s & =N i feiay | 4

Write the steps of a query to compute D.A. for employees in Microsoft Access.

23. (%) FrafafEd gon @ gEeEa S A FHO0E FE F 60 e TGS S OEm

HIT | 2+4=6
T 12,000 % S da a% 10% & & & T 12,000 § Tus =t U | 20% H I
(A o §-2 H weifra)

@ TR F 39w w1 A g0 g geeE e 3ud uw o wiefa &
IUTRTe =T 3t O % fere Tean sren & At ety st St & 1

(a) Calculate the formula from the following information on Excel for computing
the amount of conveyance allowance. Basic salary upto to ¥ 12,000, @ 10%,
for more than ¥ 12,000 @ 20%. (Basic salary is projected in C,)

(b) Name and explain the financial function of Excel which is used to calculate
accrued interest for a security that pays periodic interest.
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